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Run 5556 quartetwise, PosHelAccO/NSamplas0

=== Laser O -—
Entries: 55821
Mean: 12,7258 «/- DUD1ED
Sbd Dew: 12313 - 0.0113

=== Lager OFF ---
Entries: 2530
Mean: 1.7128 «- 0.0042
St Dhey: 02080 - 00029
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Run 5556 quartetwise, Diffs)
=== Laser O -—
Entries: 5521

Mean: 0. 7162 «/- DUO0E
Sbd Dey: 04666 +- 0.0043

=== Laser OFF ---
Entries: 2530
Mean: -0.0080 «- 0LOO5T
Sid Dey: 02662 - 00037

Run 5556 quartetwise, Asyms(

=== Laser ON -—
Entries: 5921
Mean: -31.584F +/- 0.2661
Sid Dev: 20,4744 &~ 01501

=== Laser OFF ---
Entries: 2530
Mean: -0.21599 «- 02327
Sid Dev: 11,7062 4/~ (L1645
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Run 5556 quartetwize, NegHalAcc/NSamplas0

=== Laser O -—-
Entries: 5821
Mean: 15,4440 &~ 00170
Sid Dhev: 13073 & 00120

=== Lager OFF ---
Eniries: 2530
Mean: 1.7179 «/- 0.0042
Sid Dev: 0102 & 0.003%0
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Run 5556 quartetwize, Sumsl
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=== Laser O -—-
Entries: 5521
Mean: 26,1698 +- 0.0324
Sid Dev: 24967 - 00229

== Laser OFF ---
Eniries: 2630
Mean: 34108 +/- 0.0064
Sid Dev: 03239 - 0.0046
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Run 5558 quartetwise, PosHelAccd
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Run 5556 quartatwise, Diffsd

— Lasar O —

Enbni: 3520

Magn: JI3UTETIR I & JEE 142
=54 Dwre: TN 00 - 341832004

— Lassar OFF —
Erlni: 2551
Masn: TFE40] Q20F =0 5258327180
S Dre: 2ES20T. 205 4= 37142432
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— Lasar O —
Cnbnia: I¥21
Maan: 2200 156 GG « - 115156
Sod Dwre: TREINED 37173 = 115838141

— L OFF —
Crlna: 2351
Maan: -1 FTISTET « - TIMLIMS
S Drre: RS0 CRIED +'- S0

2
=]

Run 5556 quartetwise, Asyms4

2000 4000

=== Laser ON -—
Entries: 5921
Mean: -32.1306 +/- 0.2350
Sid Dev: 17,8557 &~ (L1641

=== Laser OFF ---
Entries: 2530
Mean: -0.0280 «- 01076
Sid Dhey: 54147 - 00781
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Run 5556 quartetwise, NegHalAccd

— Ly 0% —

Enlnia: 3521

Magn: J2138EM. 1T - 315513500
25 Dwre: JHEETTY AIED &0 JES0. 716D

— Lussar OFF —
Enlne: 2550
Main: TFSEIT 3580 «- S1H]1 8832
S [Dire: 27D ST B2 ES +~ TR ETTD
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Run 5556 quartetwize, Sumsd
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Run 55568 quartetwise, Asyms LISbg1

Al

=== Laser O -—
Entries: 55821
Mean: -0.0011 «/- DUODEZ
St Dhey: 0LATES 4~ D004

=== Lager OFF ---
Entries: 2530
Mean: -0.0070 «/- 0UOOEE
Sid Dhey: 045D - D.ODET
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Run 5556 quartetwize, Asyms DSbg1

=== Laser O -—
Entries: 5921
Mean: -0.0015 «- 0001 F
Sid Dhey: 001303F =~ 000072

=== Laser OFF ---
Entries: 2530
Mean: 00032 +- 0.0025
Sid Drey: L1270 -~ 00078

0.4 0.6

Run 5556 quartetwise, Asyms Horiz Fingar

=== Laser ON -—
Entries: 5921
Mean: -0.00649 &/ 0L004S
Sid Dey: 074G - D003

=== Laser OFF ---
Entries: 2530
Mean: -0.0163 «/- 00107
Sid Dhey: 0.5059 - 00071
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Run 5558 quaretwize, Asyms USbg2

H

=== Laser O -—-
Entries: 5821
Mean: 000012 +/- 0,004
Sid Dev: 03192 &0 00029

=== Lager OFF ---
Eniries: 2530
Mean: -0.007F5 «- DO0E2
Sid Dev: 037140 &= 000449
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Run 5556 quartetwize, Asyms DShg2

=== Laser O -—-
Entries: 5521
Mean: 00009 «- 0.0015
Sbd Dewv: 01163 & 00011

== Laser OFF ---
Eniries: 2630
Mean: -0.0004 < 00024
Sid Dev: 0L1ET - 00017

(5] 0.2 0.3 0.4
Run 5556 quartetwise, Asyms Vert Finger
=== Laser O -—-
Entries: 5521

1.5

0.5

Mean: -0.0070 «/- DUDOAE
Sbd Dwew: 02724 &8 0.0025

== Laser OFF ---
Eniries: 2530
Mean: 00039 +- 0.0070
Sid Deyv: 03537 - 0.0050
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Run 5556 quartetwize, posHE vs time
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Run 5556 quartetwize, diffl ve time

Run 5556 quaretwize, asymisub vs fime
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Run 5556 gquartetwize, negHO vs time
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Run 5556 gquartetwize, summd vs time
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Run 5556 quartetwise, posH4 vs time
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Run 5556 quartetwize, posH4 vs time Run 5556 gquartetwize, negH4 vs time
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Run 5556 quartetwize, USbg1 ve time
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Run 5556 quartetwize, DESbg1 ve time
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Run 5556 quaretwise, variFing vs timea
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Run 5556 quartetwize, UShbg2 ve time
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Run 5556 gquartetwize, DSbg2 ve time
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Run 5556 quanetwizse, horizFing vs tima
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